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afe W+ 197 3008 W, I oeT & M- L st 2, 19T & 3 o1 37 37 @ W, 1 0 T &, o et
i@ fpmer sed 2 5 ), P A1 22

If H + 1 means H is the sister of I; H — I means H is the brother of | and H x I means H is the mother of 1,
which of the following means that J is the daughter of P ?

(A) PxQ-J+M (B) P+Q—-IxM C) P-QxJ+M (D) P-QxJ-M

fow  faeredi # 4 9% wreg 9 o fau MU 913 PARANORMAL® & Welleh 357 1 el U aT Al ik
EHER RIS IR EE ]

Choose the word from the given alternatives that cannot be formed using each letter of the given word
‘PARANORMAL’ only once.

(A) RARE (B) PALM (C) ROAR (D) NORM

ST fer T it e et = T

Choose the next figure that continues the pattern.

RSB -

1 1 1 v

@) Q:@ () @X@ © % ® %

TG T :

Complete the analogy :
145: 1545329
(A) 52 B) 52° ©) 35° (D) 32°

T TH HE 1 I |

Find the missing number in the series.

20, 35, 60, 105, 190, y

(A) 355 (B) 280 (C) 360 (Dy 225

v 20 . v i e e Fd 3, A gadi @ s 40 . T 2, frad gadt e s 30 . T )
e A s & 3 40 W, e & 1 P vy sifs Py A P

(A) 657 (B) 707t (€) 60T (D) S0

Priya started walking towards east for 20 m, then took left and walked for 40 m, then turned right and
walked for 30 m. Now she turns dght and walks 40 m. How far is priya from her starting point ?

(A) 65m (B) 70m (C) 60m (D) 50m

o s e 12 fendte ofw i o 2 si fe e s gee 7 e A gt am e
wTEfR AT e e faw o ST E 2

(A) I (B) ufem (C) =feur ) o

A cyclist rides 12 kilometres west and then turns right and rides 7 kilometres. In which direction is the

cyclist now travelling ?
(A) North (B) West (C) South (D) East

T A § FAT X F B % 90 W A, B, €, DE|

ufi WA A | ¥WEB | ¥WAC | @WED
@ el ¥ sl o 28 23 17 27
e el & st 14 12 8 13
AR =TT e # S e
et T A S S = . 9 .
A T § S o
AT Tl § i Be 64 55 16 76
ST et o @ R e H S S e s w7
(A) F®HED (B) ¥®FB (C) FwHC (D) FFH A
A school has four sections A, B, C, D of Class IX students.
Result Section A | Section B | Section C | Section D
Students failed in both exams 28 23 17 27
Students failed in half-yearly 14 12 g 11
but passed in annual exams
Students passed in half-yeady P 7 9 15
but failed in annual exams
Student passed in both exams 64 55 46 76
Which section exhibits the highest pass percentage in either of the two examinations 7
(A) Section D (B) Section B (C) Section C (D) Section A

wF fafem g ) LEARNING® %1 *160° % &7 § formn =wm # | 30 %8 § ‘PREPARATION® 5 ferar
E

In a certain code, ‘LEARNING’ is written as *160°. How will ‘PREPARATION’ be written in that code ?
(A) 133 (B) 124 C) 266 (D) 248

frrfeafia wredt 1 ST wroaehier § 3% s % SRR sqafeera Hifs S S et i 8, 9 g
Aprange the following words as per their order in an English dictionary and choose the one that comes
first :

Hardboard; Handspring; Handover, Handstand
(A) Hardboard (B) Handspring (C) Handstand (D) Handover

i TE IS T 1 ST o i ST 1 e SIS, et 4 ' o qET &, x " o qw 8,
= T AT S F AT |

Simplify the following expression using the given code language, where *+* represents “x°, *x° represents

=7 =trey “+ and " rey e,
9+4-6x6+8
(A) 24 (B) & ©) 12 D) 16

T S SO b1, S aaT ey o freet o & st e ae e b siftman sfawa atg Ty |
Study the graph and find what is the maximum percentage increase of tea from the previous year to the
next year.

2023

2022

2021

2020 2021 2022 2023
= milk (79) 14 15 16 18
B3 coffec (#7T) 14 13 16 1%
Ml tca (577) 13 15 17 20
(A) 20% (B) 30.25% ) 1765% (D) 10%
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et & & w-am sive T, @z Siad % o & we S = i g
‘Which of the following diagrams best illustrates the relationship between Earth, Sea and Sun ?

(A) (B) @O ©) OOO (D)

afF s FIHT AL F, K, P, ¥, &1 3wren # s
If the sequence of letters is A, F, K, P,___, what comes next ?
(Ay W (B U © v Dy T

= e bt e Forersl e, it s =1 e et 2 ST e st 3 gmn A T 21

Select the option in which the numbers share the same relationship as that shared by the given pair of
numbers.

185: 199

(A) 89:106 (B) 178:187 (€) 139:153 (D) 126: 134

e it i |
Complete the series.
2,6,12,20,30,42,

(&) sl (B) 56 ©) 49 (D) 65
e 4 i

(A) T (3E) (B) e ©) 5 (D) wrer
Lion is to in Den as Spider is to N

(A) Shed (B) Hill (C) Tree (D) Web
faw e s

1. T A AT 1 G @ S ST S E |

1. Torror 3 sttt s e & S At e
1L 7 3 A T & = e A E |

IV, I A SfAT i i € W S |

1 & 12 7 wifere o g sateran = ot wrer wehoren < Fafier i o siak e = €1
For sl e st aet Wt 2 2

In the given diagram :

1. Rectangle represents persons who know English.
1I.  Trangle represents persons who know Marathi.
Il Square represents persons who know Telugu.
1V.  Circle represents persons who know Hindi.

The regions labelled from 1 to 12 various binati of | proficiency among the
individuals.

How many individuals can speak English exclusively ?

i — English (#i5sfT)
Marathi :IRIBC\) 4 -
6

3
! 2
9
8 1 Hindi (&1
10 "
—> Telugu (T
(A) 12 (B) 5 Q) 17 (D) 19

A TE ST T 1 A e A S I ST § @ T e g s v s § 3 et
I AT T A |

Study the provided figures carefully and choose an option from the answer figures that maintains the
pattern observed in the problem figures.

GEPHENCIN I
te|erT|ie|E L]l

el oo
1 | 1 wv Y

@ ® (1) © )4 o (¥)
€ | I C I C G i

T  Hafafe v w5 v S ST ¥ et 3 76 o AR S 40 o AT % e # | A
1-1-1983 =i T 380 ¥ A& ¥ 3T 1-10-83, 1-10-84 T 1-10-85 W T 40 Z 7f¥ i afg F a1 9k o=
1-1-86 1 Hakge 1 2, 1 o ufd e e e 4w 2

A man’s pension on retirement from service is equal to half the average salary during the last 3 years of his
service. His salary from I-1-1983 is % 380 per month, with increment of ¥ 40 due on 1-10-83, 1-10-84 and
1-10-85. If he retires on 1-1-86, what pension does he draw per month ?

(A) 230 (B) %215 (C) %225 (D) %205

aife; Forelt e %1 70%, 0.35 %, 91 30§ H1 120% 774 Hifs |
If 70% of a number is 0.35, then find 120% of that number.
(A) 0.6 (B) 7.2 (©) 6.0 (D) 64

T ST 3 25 % o1 T FeT 2 o Te70 ek = o6l I sifo ol o ot ifohe e 7 16% o7 g2 Wi |
ST ArEdfa e o= 2 2

A trader marked the price of a commodity to include a profit of 25% but allowed a discount of 16% on the
marked price. What will be his actual profit ?

(A) 9% (B) 25% ) 5% (D) 16%

e forhe et i 30 it 3 foru aecrarsit ST 40 7 % | S Hat T 9e <EaH W E 100 T E
sfirer 2 | afe 7 4T ittt enfirer et e s, o et 28 wrfit @ shad 38 1o faerdt @1 =
TR ?

The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest score
by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs.
Then the lowest score of the player is :

A 17 (B) I8 (C) 20 (D) 19

O I - ST U S T 460 F AT 2 S T 59 I e © | At T @ % 580 F d= &,
T A FEAT T G ST & | T T e AT

A used two-wheeler-dealer sells a scooter for T 460 and makes some loss. If he had sold it for % 580, his
profit would have been double of his loss. What was the cost price of the scooter ?

(A) %500 (B) %540 (C) %480 (D) £520

285, 510, 1440 =T Hewd HAGEdS (HCF) 00 Fifae |

Find the HCF of 285, 510, 1440.
(A) 17 (B) 15 (©) 16 (D) 14

el |12
F T

1 1 1 1
o ® 55 € ™) 3=

A
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T |z s 45 At st g T e ¥ v s e ate vl ¥ e S ot wd € arfe
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There are Senior officers and Secretaries in an office. If 15 Secretaries went on leave, then every Secretary
has two Senior officers. After that 45 Senior officers went on leave and now every Senior officer has
5 Secretaries. Then find out how many Secretaries were there initially.

) 35 (B) 40 ©) 25 (D) 30

e AT o % T 80 Fersdt 16 52 7 oo e Sy 72 ft 12 62 4 wrerdr &1 Foom oo o il 2

(A) 7.5 Frdtyerer (B) 5.5 Femfieter (C) 6.6 Fmli/feier (D) 6.5 Femltetar

A boat goes 80 km upstream in 16 hours and 72 km downstream in 12 hours. The speed of the boat in still
water is

(A) 7.5 km/hour (B) 5.5km/hour (C) 6.6 km/hour (D) 6.5 kmv/hour

o o i e 22 L ot o 2 o e e it e e & o v e e e e aw, a
WA FH A G | AR e g

(A) l!%ﬁﬁ\ﬁ/\i’a (B) 3 ferefifeer ) 7;—%*:,':13[ (D) 12 Fefiferer

A person can row 2‘,2.2i km an hour in still water and he finds that it takes him twice as long to row up as to
row down the stream. The speed of the stream is ©

(4) Jaémm (B) 3 knvhr (©) 7;—kn1"hr (D) 12 km/he

e, Pt ek T wreeh 3 2000 gt #1750 e dia o 21 & srqfd w0 o1 = 3 | I A &
S, A% 5% Hee orE Wi T e § SEhd 8 9 {, a9 o 98 25% 1 e FH | g
50% STkl < e s fea aran e | i Fsfar i foben Jear gon 22

A manufacturer undertakes to supply 2000 pieces of a particular component at T 50 per piece. According
to his estimates, even if 5% components fail to pass the quality test, then he will make a profit of
25%. However, as it turned out, 50% of the components were rejected. Then what is the loss to the
manufacturer 7

(A) % 30,000 (B) %26.000 (C) 28,000 (D) 24,000

T FHIE 6,400 T T 44T T HI 20% 1 E 8 | A1 FH A FA A ?

By selling a car for % 6,400, Mr. Rao lost 20%. Then the cost price of the car is :
(A) TR400 (B) 7,680 (C) %8,000 (D) 7,200

e T T € 1,764 71 A1 e femt 3 e s 2, ol anfifes s 5o awats s fier 24t
T ot S it et o 2

A sum of money is paid back in two annual instalments of T 1,764 each, allowing 5% compound interest
compounded annually. The sum borrowed was :

(A) T3240 (B) T3220 ©) 3,200 (D) T3,280

€ it B w1 w18 AT S 24 fedt o o weka ¥ | 2 8 Tt e o e ek @i e C =
T | B 3 9 e i (e e 3 g e 2

(A 10F= (B) 5%&: ©) R%ﬁw (D) 5Fm

C and B can do a work in I8 days and 24 days respectively. They worked together for 8 days and then
C left. In how many days did B finish the remaining work 7

(A) 10 days (B Sidays © ng days (D) 5 days

A 3 B e U FE # 75 A A aw § | S A e e e At A Y 3 e aw o
S B3 3w i 23 FATH g o A S o 29 3 TR fe S e ars

(A) 25f@ (B) 19 (©) 18fe (D) 26 &

A and B each can do a work in 75 days. They began the work together but A left afier some time and B

completed the remaining work in 23 days. After how many days of the start of the work did A leave ?
(A) 25 days (B) 19days (C) I8 days (D) 26days

e T A F A 25% F0g T | A i 5 20% Tt e o i 10% 7o fra wr  w fwe #
wfomi afg w2

The increase in the price of a certain item was 25%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increase in the price 7

(A) 15% (B) 10% €) 125% (D) 5%

ST T 180 W forerm 3T % 280 Wi fremm v At @y # 9w+ s § e i
w1 Fem 21 2 320 Wi fertmmm w32 S W 20% w7

In what mtio must the two types of tea at T 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at¥ 320/kg earns a profit of 20% ?

(A) 2:13 (B) 4:13 ©) 1:14 Dy 3:13

A i B o T 7w % i S 2 ;3 % sl s A W e a wde # B gn fe g we @
15 firte sifee wm a2 | af A T e & e g, 7 S ol A e § e ww o

(A) 45fime (B) 35 (©) 215%me (D) 22.5fime

The ratio between the speed of travelling of A and B is 2 : 3 and therefore A takes 15 minutes more than
the time taken by B to reach a destination. If A had walked at double the speed, how long would he have
taken to cover the distance ?

{A) 45 mintues (B) 35 mintues (C) 21.5 mintues (D) 22.5 mintues

T TR HIART S T S% A o 6 3T 6 AT S | 3w s et e % w67 st ?
A sum of money becomes three times at 5% per annum simple interest. At what rate % will it become six
times in the same time ?

(A) 12.5% (B) 14% © 1% (D) 10.5%

S S F S 7
What comes next in the sequence 7
e EG
(A) K (B) H ©) I (D) 1

O A T FTE T T E | W FE T UF TF T FAL S I A U 47 EAT | WA WATE 3, 8, E
At K famm & | g s =1 g w5 5 fow o et = e =t

e ot 7S 3 v T T R, A G A O W e ¥

(A) 3SNE (B) 33K (C) 8#RE (D) 8FHEK

Four cards are placed on a table. Each card has a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which cards must be tumed over to satisfy our requirement ?

“If a card has a vowel on one side, then it has an even number on the other side_”

(A) 3andE (B) 3andK (C) 8and E (D) SandK

TFIER A 6§ A, B, C,D, E,F§ | B, CH I &, @ €, BFIA T 8| A 3w C Fafea S 1 B, ©
FAER I D, AF |, A Hruré & | aftam o Freelt ufzen waen &9

A family consists of 6 members A, B, C, D, E, F. B is the son of C, but C is not the mother of B. A and C
are a married couple. E is the brother of C. D is the daughter of A. F is the brother of A. How many female
members are there in the family ?

(A) 4 B) 2 © 3 (D) 1

AfE 6 ST = A TY0E, AT 10 AT AT FET TS Y

If the cost of 6 mangoes is % 90, what is the cost of 10 mangoes ?
(A) T 160 (By %130 €y =150 (D) 120

T T AT T S T o6 S AT ot [t i T 96 o | STeiiE, 4 9 T S i gty i
WA 1 T 4 TR F AT 3T | A A o A v w2

A few students went on a trip and the total amount planned to be spent was T 96. However, 4 students did
not turn up and as a result the remaining students had to contribute ¥ 4 extra. The number of students who
attended the trip was :

(A) 6 (B) 10 © 12 (D) 8

s s E, o & i s fedta-fadt = o 3@ ¥, e o s sem 3 ) B
ST G|

Four letter-clusters have been given out of which three are alike in some manner, while one is different.
Choose the odd one.

(A) BDFH (B) PRTV (C) OQRT (D) HILN
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s Hife e, Teet spfa (X) i o oSt & it s e a2 )
Find out which of the figures can be formed from the pieces given in the first figure (X).

N D
Y
(X)
@ ®) ,\/ © ® \67

e et i S T A gl we , cu wedt H fiay Fr sweirdt aam a1 Bl oo
T I A AT HAT 2

(A) A (B) =t (C) it (D)

Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the

relation of Vipin’s wife Parvathy to that girl ?

(A) Sister (B) Mother (©) Aunt (D) Daughter
W’?"‘Q’liﬁﬁﬂ:

S R : HIEHEERY ;2

(A) =TT (B) THEar (C) TEEe (D) Ffehewe

Complete the analogy :
Camera : Photographer :: Microscope : ?

(A) Biologist (B) Chef (©) Pilot (D) Architect
Sifew i e T Y E 0
(A) FATHSATE (B) =T A A o €

(C) FFT=EaE

How are dolphins and whales similar ?
(A) Bothare fish

(C) Bothlay eggs

(D) BT U Shed &

(B) Both breathe air
(D) Both have scales

afy e o o Fafi dee denien) e # o o @ s s (3 % e we € A
S AT (R e s R

(A) T (frR) (B) S () (©) =t gEErm) (D) T (FFTTH)

If you have a regular pentagonal prism and you slice it parallel to its bases, what shape is the
cross-section ?

(A) Pentagon (B) Rectangle (C) Square (D) Hexagon

[EECEcka el
Find the odd one.

Ol O[O
(A) ® (B) Q (©) @ (D) @

EEEEACLEEICETIE LS

Find the odd one from the following :

PG
4 -3 <M -

& s # fopa s E 2

How many rectangles are there in the given figure 7

l
[ |
l

(A) 17 (B) 14 ©) 15 (D) 13

fo o Forr 3 P (e i ween fif

Count the number of triangles in the given figure.

(A) 10 (B) 16 ©) 18 (D) 12

T o et & &, = o i o e F g L EE |

Qut of the figures given, choose the one that will complete the series.

®) =] [®] [=] =] -

(o] ofa] o[@ o0

= ST i A I IACATWEH S A
Choose the letter pair which is different from others in the group.
(A) MH (B) TO (€) OK (D) GB

gEer: 3,5,11,29,83,

S # STl HeAr Far et ?
Series: 3,5, 11,29,83,

What is the next number in the series 7

(A) 245 (B) 253 ©) 233 (D) 283
T ST HE T Hf|

Find the next number in the series.

62,55, 48,41,

(A) 36 (B) 32 {C) 38 (D) 34

sty — et Trea-gm ety 1 o frefafaa d awre 2
(A) STFAETSHIT  (B) @mT (C) e (D) ST FE

https://ctcp24.com/KeyChallenge/Candidates/Challenge.aspx

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

UPPRPB
|--Select-- |
4
‘ | Submit Objection |
|--Select--
4
- | Submit Objection |
|--Select--
4 : B
| Submit Objection |
|--Select--
4
‘ | Submit Objection |
|--Select--
4
‘ | Submit Objection |
|--Select--
4 : B
| Submit Objection |
|--Select--
4
‘ | Submit Objection |
|--Select--
%
‘ | Submit Objection |
|--Select--
4
‘ | Submit Objection |
|--Select--
%4
‘ | Submit Objection |
|--Select--
%
‘ | Submit Objection |
|--Select--
%
‘ | Submit Objection |
|--Select--
4
‘ | Submit Objection |
|--Select--
4

| Submit Objection |

6/12



9/11/24, 5:49 AM

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

77

78

79

T atte ® e g 7€ | o w0

(A) ¥ (B) W 359
(C) 399 31 T 759 3 (D) W
Faifra i Fm T 27

(A) =d (B) = (C) = (D) =@

T 3T AGH et S T SAH e ¢ | 30 3fm e ok wreg ol 2 0
(A) e (B) (C) ekt (D) #eTew

19873 e (i) 3 fom mfer st qren fwd fem w2

(A) T wae fie (B) ieid aut () fEmET (D) Torder amt
Frefafaad @ fasmm e 2 -

(a) #= (B) @ ©) F= (D) S
aviaren 5 e € 7

(A) =0T & S==T T (B) =1 ¥ HYE H
(C) =it = soafeer TE & (D) =T H

ST AT HETE W 3 A g
(A) FHervfemaa (B) sweETEIEN () STWEAT AT (D) FEATEAT

T T & A IART A
(A) =T (B) & (€) @A (D) =ifaFa

E AW &, T 98 A 21 30 9 o HE-T S 7

(A) FAUEEE (B) ¥=EMEEE (C) Hhaar® (D) TfmmEEEF

T T TR T FTT 91 Hie gl & 31 i 9 diifn e
(A) = ot arer e (B) ©T T Wal T I
(C) = TR ot it it 7 Forebrenat (D) =E d S

gl — i STor-m 1 W Feea

(A) WET—=e (B) am—amEfter (C) -3 (D) FATH —=rar

Frefefiaa # & 9 % 375 T % 9 it :
(A) T E AR E
(©) FFEFE

(B) M ST AL |
(D) e i FA AL |

ST — I VoS- HTHE S

(A) FFI-fnda (B) w3 (C) W& — TGHT (D) Trde -5t
FET F AR TR

(A) 3o (B) fafew (C) T (D) ==
e EAE R

(a) fi (B) sreramE (C) =wamE (D) Teg

Frefefiae o & v am § Fdarsr w1 gan 2 2
(A) e HF TG AR | (B) WEE 7 ¥ F0T 39T 7 |
(C) 7S TIRT B HRE AEE ST (D) W g S |

Frferfan # & w-ar s s 2 2
@ (1) ® () © ) @) ()

fwTu forehet # & Fago w1 Sifem FEaw e
(A) fagre (B) fammn (©) fagfht (D) et

TR T SATATT T A 3 ST [0 0 S e |

(A) wiEE (B) wHamE s (€) safmm (D) ot fermm
et o & w57 3res T 2 7

(A) Fr=m (B) = ©) Fme (D) W
EEEEACTER A

(A) 6 (B) 4 ) 5 (D) 3
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T U] T TR AR -
(A) waf (B) 75 (©) sirs (D) 7=

FATE" W67 N HEl AgA=H T AT fadeT TEEiy -
(A) =Fgat (B) =amar (©) =ard (D) Zaréat

Forg o = g forg e, o ot =6t far v | 5 vl e st R
(&) fawmEm sidswn (B) Faemifes st (C) TEFd SR (D) sl e

Freafefiaa # & forar drm 3 fagte e 3 fore e g e forar s & 2

(A) wifeeT B) fogm (C) waT= & (D) fermr
37T 7o o1 AR R 7
(A) fagms (B) SR (C) vt (D) e

<t i FEA” (D) TS -

(A) FHTFAR (B) g aEa (C) e gt (D) =i 3=
Freaferfia i & qfee vee ifer
(A) @TEm (B) T (C) Fead (D) =

I H T ATt e % frnu wea 2

(A) g (B) Tamwramd (©) §i= (D) Tl
T e 2
(A) HAEFE ST (B) w=maHITTE (C) et s B (D) TSR T

T — A MR- FT A AA T 2
(A) oFFTEE — T9F (B) =HF — FREE (C) ST —9FEe (D) =9 — T

. &, 90F 94 TETT AH

il i 71 (R v g er 6 ufag =l 21 R ol % s w Peafafaa v ¥ sdifan)
erett ot 2 7 oft =g e < S

TR e B 3 aeE & an

T T, FE T S S S

=1 B, 7 e, 3 3 s T deew

WERTZ T et S it e A ot

Tt T % e e A e At

A Tt AT a1 A e

wpaferst i et e E

(A) =fif® (B) eyl (©) ety (D) wmIfas

T T AT = A A et Tt o # e s e g
(A) == (B) TEESE (€) T (D) T

Itk RIS T Wl Sk o Wk ¢
(A) WerTE & At (B) 1857 et
(C) SIS =7 3= (D) =it Fir ol

AT T FAE FATE
(A) (B) GEIFANEREA  (C) AR (D) weradtamt

o Hfaar H W R
(A) @ (B) w0 (©) #m (D) wfE

Freafefiae & # F4 ven s d R 20

Which of the following numbers is different from the rest ?

13,17, 23,27,29

(A) 27 (B) 17 € 23 (D) 13

afz aur ¥ faufie =t areh a7 £ i 18 fafiveer 2, a1 a6 ofa 7 2, af aw i fen & e frof s
Ferafr foam arefi ofa & 500 sl 2 2
(A) 4.5 Rt ufer g2y (B) 4.6 ot ufa ger

(C) 5.2 Fedi e wier D) 4.8 fet whe ger

If the speed of a boat moving against the current is 18 km/hr, what is the speed of the stream if the boat’s
speed downstream is 50% greater than its speed upstream ?
(A) 4.5 kmph (B) 4.6 kmph

(C) 5.2kmph (D) 4.8 kmph

8 wieT 3w 3 16 et Saé 7wt g 91 dwe T 2

‘What is the area of a triangle with base 8 meters and height 16 meters ?

(A) 64m> (B) 128 m’ ©) 15m’ (D) 32m®

sk STt ST A & geet 200 fEdt 80 Fesfieer i afa @ a w2 1 e it o e ag s a %
et 200 Fereft 50 fordiyerer < e & o s & | SEER TR Teet 400 TRt 3 oo sme simm k2
(&) 68.15 Tepsft/eier @) 64.15 sz

(Cy  58.15 Terrfiyeier (D) 61.53 ferefiyeiar

A man travels the first 200 km of his joumey at 80 km/hr. Due to bad weather he travels the next
200 km of his journey at 50 km/hr. What is his average speed for the first 400 km of his journey ?
(A) 68.15 km/hr (B) 64.15km/hr

(C) 58.15 km/hr (D) 6153 km/he
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fe T 3 O A H, 40 F A TG 2, 30 FTRTE THE 2, FHW 20 F = S R S e 1 e D
FA T T 7

If in a group of people, 40 like tea, 30 like coffee, and 20 like both tea and coffee, how many people like

only tea ?

(A) 15 (B) 10 (©) 40 (D) 20

s T T SR TR F G IS ¥ o, A wed T A 9w et 7 4 frw a7 E e aw D
Toperefil el ofi 2

(&) afadr (B) = (C) =1 AT (D) =2

Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is my father’s daughter.”
‘Whose photograph was it ?
(A) Husband’s (B) Daughter's (C) Her own (D) Son’s

ardt aferm ot i 20 forlt =reht, fiew anit s g4t s 20 foft =l | a8 feard sir g i 20 =< 1T A
S T 1 45 Felt s el i = | am s e E A @

(A) T (B) ufem (C) afEorgd [

Rani went 20 km towards west, then turned left and went 20 km. She again turned left and went 20 km.

She took a 45 degree turn towards her left and went straight. In which direction is she walking now ?

(A) North-East (B) West (C) South-East (D) East

Freaferfis mferr ufen st w8 w6t % wgEw *472038" 3 oo S #rs W Fif C
= ENEREAE NENENE A NN

[ N S SE LN

.

L - aft w3 weet it w1 s faww sie € o A s ey i wifea B s e

2. aft e wee o sfaw i s s E A w20 % w i wifea s e

3 gﬁ%‘ﬁﬂﬁ(:ﬁaﬁnﬂmﬁaﬁqﬁﬁﬁwéﬁ(@ﬂ%‘ﬁqﬁﬁﬁﬁ‘Q’ﬁtéﬁﬂﬁaﬁ‘W’%w
FATERT |

(A) KTMWNB (B) KTMWNZ (C) ZTMWNZ (D) ZTWMNZ
Read the following table and find the relevant code for “472938 as per the conditions given :
‘Digil 2578‘9|4‘6|3‘]|
[Lettercode | M | R | T [ B |W | K |[D|[N]1J]|
Conditions

1. Ifboth the first and last digits of the number are odd digits, then both are to be coded as *S’.

2. Ifboth the first and last digits of the number are even digits, then both are to be coded as “Z’.

3. If one among the first and last digits is odd and the other one is even, then the first digit has to be
coded as ‘Q’ and the last digit as “W".

(A) KTMWNB (B) KTMWNZ (C) ZTMWNZ (D) ZTWMNZ

AT 15, 36, 63, 96, ST HEAT I 0| C
Find the next number in the series 15, 36, 63,96, .

(A) 145 (B) 128 () 135 (D) 122

ferm = s ifw | =
(A) 9 HF (B) T FEE

(C) Fgam: g (e (D) T : faee
Find the odd pair.

{A) Sheep:Lamb (B) Cow: Calf

{C) Tortoise : Turtle (D) Daog : Puppy

fow o et & 3w i S R o F wwm 2 A
AT - W T

(A) IS a4 (B) 2T ART (ITHT) : AR

(C) =T ; Hired (W ier) (D) =aTE 5= ; wE

From the given options, find the pair which is similar to the given pair.

Projectile : Trajectory

(A) Satellite : Orbit (B) Shooting star : Atmosphere
{C) Ship : Knots (D) Aeroplane : Route

T afER F, Ui w6 P, Q, R, § 3 T# | P 3 Q us faanfea wirgr 2, Q wfeen #a=a ¥ | P, R 7 yhaitar 321 A
2, forwefl gl 921 S| T, SHIHI 21 Q, TH 34 wafaa 27

(&) = (B) (©) ¥ (D) &

In a family, there are five members P, Q, R, S and T. P and Q are a married couple, Q being the female

member. P is the only son of R, whose only daughteris S. T is the mother of S. How is Q related to T 7

(A) Daughter-in-law  (B) Sister-in-l (C) Daughter (D) Mother-in-law

o e &, o = % et i sve % A1 92 € 1 et mE @ g3 g E | sw ¥ e v it 3w s an D
Torereni & & e 3 ol it ot waber avan 2 | el fevepew s il |

In the given question, there are two sets of letters to the left of the sign :: which are connected in some

way. The same relationship obtains between the third set of letters and one of the four altematives under it.

Find the correct alternative.

18120 : RAT = 18914719 : 7

(A) RICH (B) RINCH (C) RIMBS (D) RINGS

Y XFEARMpEEAR 2 vFImafmmid iz i pd e B
(A) afEorad (B) afmrafiy (C) Fwi-ufam (D) Jw-d

Y is in the East of X, which is in the East of P. Z is in the North-West of Y. In which direction of Zis P ?

(A) South-East (B) South-West (€) North-West (D) North-East

ST WA 19 i | D

Find the dissimilar number.
9271, 8482, 7633, 6724, 5745.

(A) 6724 (B) 9271 (C) 7633 (D) 5745
Frefafis -9 v T % T A R T o w5 afae e getar & | W s e S A
T ST TN F I Af

The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a
book. Study the pie-chart and the answer the question based on it.
e o=+ F TFTE A 7 9w E = Various Expenditures (in percentage) Incurred
(e 7 ) in Publishing a Book

Printing Cost

Paper Cost
25%

Binding
20%

f ot e o et e P e A 40% it Fratto for w2, it st e 280 ®, @ gew A
e T 3 WA TS AT R

If the marked price of a book is set at 40% above the cost price, and the marked price is T 280, what is the
cost of the paper used in one copy of the book ?

(A) %50 (B) %60 ©€) %30 (D) 40
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i T ST S F AT 0 w5 I 4 B
HDYSMWNBQPOCRTBLZVEGUF

= T T # A A asrH aviaen ww A g d

(A) VIHRE (B) D#EmY (€) USHTF (D) BHTQ
Answer the question according to the letter series given below.
HDYSMWNBQPOCRTBLZVEGUF

Which two neighbours in the given arrangement are farthest in the alphabetical order ?

(A) VandE (B) DandY (C) Uand F (D) Band Q
AT 3T 9152 INFORMATION® 3 1,5, 6 3T 8 3 STERT 7 01 2k 31 U STT0T SHiisiT /ed o e &, D
A1 36 Y5z 6 e S A 2

If you can form exactly one meaningful English word using the 1%, Sm‘ 6“' and R‘h letters of the word
SINFORMATION®, what will be the fourth letter of that word ?

(A) 1 (B) T © R (D) M

Hords e FemTTe T A A T e D
(A)  SFEVTEE 39 (B) u=rE (C) IR (D) efrn

The Indian state with the lowest sex ratio is :

(A) Arunachal Pradesh (B) Punjab (C) Utar Pradesh (D) Haryana

2021 ¥, T F e W g A ae afie s S arer s s e § A
= fear A

(A) = (B) e (€) wh=at (D) 7@

In 2021, Instagram was ranked globally at position on the Internet in Most Used Social

Media Platforms Worldwide ?

(A) Fourth (B) First (C) Fifth (D) Second

=i 3 fermara vt smsbwor e fo 2 B
When did China invade Tibet ?

(A) 1949 (B) 1950 (C) 1953 (D) 1952
Frafafaa & o Sfra =i <t w1 S Heae 7T T 2 c
(A) 3 (B) Sam (€) Hew (D) FFaT

Which of the following organisms is considered a bioindicator of water pollution ?

(A) Lion (B) Zebra (C) Frog (D) Earthworm

SHEET (D) FIHAE S C
(A) D=S(3TFW) /S (&) (B) D= S (@) / NEE)

(C) D=N@eEm) /S @) (D) D =S (HAFR)/ W (FT5)

Density of a population (D) is :

(A) D=S(size)/ S(space) (B) D =S(space)/ N(number)

(C) D=N(number) / S(space) (D) D=5(size)/ W (weight)

AT HrelfeT o6 TreRTT WA o STt GO aie o A A e 7 A
(A) wEE ST g ST § gun wh

(B) T FRET AT i AT G e W

(C) it 3 fove sl wriam = ww ek S e S w5 et w5

(D) ¥ Tt i T g are e a9 F 2T T

How does the integration of biometric technology enhance India’s internal security framework ?
{A) By improving identification and verification processes

(B) By elininating the need for human security personnel altogether

(C) By reducing paperwork and streamlining administrative pr for citi

(D)} By providing real-time location tracking enhancing overall surveillance

1928 & AFEA Hean 1 qea o i o 2 B
(A) ETEEE EE (B) HIET GEeTeHIE Tee

(C) Fu=zam (D) wereHT i

Whao led the Bardoli Satyagraha in 1928 ?

(A) Jawaharlal Nehru (B) Sardar Vallabhbhai Patel

(C) Subhash Chandra Bose (D) Mahatma Gandhi

T EEheTe fae i 7 i srard: (it W A ) F A # e E ? D
(A) T EEE (B) swafaiE ©) wifaza (D) HeTHE 5

Whois the recipient of the first-ever ‘Lifetime Disturbing the Peace Award’ ?

(A) Rory Stewart (B) Arundhati Roy {C) Joe Biden (D) Salman Rushdie

T HAaT ST S ST S T Tt § sigiaa s s sggtEa s & A
e et 2 e Bt agrar 7

(A) 799w (B) 444t guire (C) 73t e (D) 42ai g

Which Constitutional Amendment Act extended the reservation of seats for Scheduled Castes and

Scheduled Tribes in the Lok Sabha and State Assemblies ?

() 79" Amendment (B) 44 Amendment  (C) 73" Amendment (D) 42°! Amendment

‘R Fiier e F R T § fem g 0 B
(A) Frgm (B) wfimw () fosmm (D) FETEE

The “Loktak™ lake is located in which state of India ?

(A) Trpura (B) Manipur (C) Mizoram (D) Meghalaya

TS (32 T3RT) 3 I ot Ukl i S EdT Sredl w v fe wiferen fagia 1 agrEn 2R 2 C
(A) g (B) = (€) sigar (D) HHal

The words “Unity and Integrity of the Nation” in the Preamble aim to which fund: 1

principle ?

(A) Sovereignty (B) Justice (C) Fraternity (D) Equality

UDHR (A= et 1 T o) 1 #1781 570 Sefie 3t Trorai o st 51 & & B

(A) w325 (B) =% 14 (©) =% 18 (D) =% 10
Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum
from persecution ?

(A) Article 25 (B) Article 14 (C) Article 18 (D) Article 10

e A & 2 D
(A) Tr-femiea = (FF-wwT v (B) e it (et o)

(C) ik i (A-Sae ) (D) r-fremfa sfmaft @E-mwifl i

The full form of NPA is s

(A} Non-Performing Actions (B) Non-Public Assets

(C) Non-Package Action (D) Non-Performing Assets

I W o e et 3 9 e s S g 2 C
(A) fasdm (B) smTEm () @y (D) 3T

In which district of Uttar Pradesh is the *‘Shera Dance® celebrated ?

(A) Bijnor (B) Ayodhya (C) Lalitpur (D) Amethi
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gz o sfrew formel s 22

(A) T FeAW TR (B) §wTY = aE

(C) A3, sr=amt (D) TS THE

‘India Wins Freedom’ is the autobiography of whom 7

(A) Abul Kalam Azad (B) Subhash Chandra Bose
(C) LK. Advani (D) Rajendra Prasad

2016 3 Tz 3 =12 RBIF1 e 9w 500 3R 1000 759 % F g ?
What percentage of 500 and 1000 rupees notes was received by RBI after the 2016 demonetization ?

(A) 97.45% (B) 95.65% (©) 9327% (D) 98.96%

1993 % 7 sifaernt 7 fag aee T KT ST T |

(A) Befien =i umedy s (B) eerfiE o

(C) fawmr wrom (D) TFEEHHT

The World Conference on Human Rights in 1993 adopted the .
(A) Helsinki and Amsterdam Declaration (B) Helsinki Declaration
(C) Vienna Declamation (D) Amsterdam Declaration

AT T WHE wfaae | # e wE e

(A) AT i #7131 sewE o forg adt womy faede w aiie

(B) TR FH 3 0 ST FI agTar S

(C)  WTSaT TV SFTI 6  T

(D) ] ERER ¥ Iemed W afEy

What is the main purpose of the Comprehensive Test Ban Treaty ?

(A) Ban all nuclear explosions for both civilian and military purposes
(B) Promote the peaceful use of nuclear energy

(C) Reduce existing nuclear arsenals

(D) Ban nuclear weapons production

S g o a3 Srerteaat ¥ fore wam farar smar &

(A) wifeeT (B) T (C) ForE (A=) (D) &=
Arjuna Award is conferred for achievements in the field of :
(A) Literature (B) Dance (C) Theatre (D) Sports

T HTE A & S e % A & A A @ Ser A fiea g |

(A) ST (B) T (C) e (D) UEEEEE
is a software program that filters all the data coming through the Internet
(A) Firewall (B) Cookies (C) Malware (D) Antivirus

i e Rl o el e TR L 1 e B T G R 2 T e T e 21 e o

(A) ATt AT (3t fwm) (B) Wt oAb

(C) A STaei (D) TR AT faqur (ST

What is the term for the strategic use of social media platforms to communicate with an audience ?
{A) Virtual interaction (B) Social networking

{C) Online chating (D) Social media marketing

S T T e ?

(A) HREar (B) wri-Arat (©) g (D) s
What is the capital of Bhutan ?

(A) Sarajevo (B) Porto-Novo (C) Thimphu (D) Brasilia
AR T o A e A 8 7

(A) T B EY (B) wereT e A

(C)  3F=é it forr (D) TR

Which is the longest River bridge in India ?

(A) Bhupen Hazarika Setu (B) Mahatma Gandhi Setu
(C) Annai Indira Gandhi Bridge (D) Rabindra Setu

e o shfee 1 A g 0

(A) HeT 1995 (B) TTe 1998 (C) s 1991 (D) =7 1853
When did the Government present the Kisan Credit Card Scheme ?

(A) November 1995 (B) August 1998 (C) July 1991 (D) Apnl 1853

W S feraremr o ot AR & I e wre atgea § e we afad s 2

(A) T TR FEEAT & AT

(B)  =1fdies wiemre emee

(C) T WA S TR He aa

(D) T TR = ey #

How does the partnership between India and Vietnam change their regional security dynamics ?
(A) Through joint nuclear programmes

(B) By imposing economic sanctions

(C) By increasing defence cooperation and maritime secunty

(D) Through cultural integration

14 firter =i frm s & T smar 2 2

(A) it fea (B) g wewaren o
(C) Taadwmfeaw (D) T et femm

14 September is celebrated as :

(A) Engineer's Day (B) National Voters Day
(C) Word Cancer Day (D) National Hindi Diwas
AEHTEAT AT fe wetg & 7

(&) =t (B) ST (C) s s (D) W wr
The Bharatmala Pariyojana is related to :

(A) Forestry (B) Waterways (C) Airports (D) Roadways

A s Fad Tt & e o o e wre i e W e & 0

(A) UNCCT (B) AT (©) faad= (D) gerdie
Which organisation is held responsible for coordinating global counterterrorism efforts 7
(A) UNCCT (B) NATO (C) World Bank (D) INTERPOL

39 AT, 33, I STavas aegel WS 7w e ?
What is the GST rate for necessary items like milk products, bread, etc ?
(A) 28% (B) 18% ©) 12% (D) 5%
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ST W AT o HA ST e 1 7 A e e @ s 2024-25 @9 w i duE g 2
(A) wifim (B) it
(C) e s (D) = e

What is the name given to NASA’s manned landing mission to the Moon which is likely to happen by
2024-257

(A)  Artemis (B) Orion
(C) Apollo Regained (D) Lunar Gateway

ATl endi-afrer e fires froser (ITER ) whersr i sier frefafiea i sraerfa it =2
(A)  sirter- smarfra farsreft serar

(B) @2 49 ST 1 € & FH Herad st

(C) 3= it et ek

(D) T 3erae o for vy s

The International Thermonuclear Experimental Reactor (ITER) project aims to demonstrate the feasibility
of :

(A) Space-based power generation
(B) Fusion energy as a large-scale and carbon-free source
(C) Advanced solar panel technology

(D) Nuclear fission for energy production

S 2024 7 1 w1 # fe o S € 2
(A) i iy B) wfeaFEst
(C) srfa= Feftarer (D) Trge i

Who is the Leader of the Opposition in the Lok Sabha as of June 2024 7
(A) Sonia Gandhi (B) Mallikarjun Kharge
(C) Arvind Kejriwal (D) Rahul Gandhi

T ATAT [ o T S E 2

(A) TEHEA (B) famdm aeit (C) T (D) i Egwr
Whois the author of the book “Tughlug Nama™ ?

(A} AllenZen {B) Ziauddin Barani (C) Ibn Battuta (D) Amir Khusrau
st s Sl Ul (IRENA) 781 31 & 7

() g Sfrardt S wfEsETT ¥ for e e e
(B) forretter 3w ¥ fou vy St i i w2

(C) IRENA TIHW S %1 301 99T 7 S Hiad #d1 2

(D) STEF (FTETRI0T ) SoetT o ST Shi SaaT Al &

What does the International Renewable Energy Agency (IRENA ) do ?
(A) Provides financial aid for fossil fuel projects worddwide

(B) Develops nuclear energy programmes for developing countries
{C) IRENA focuses on advancing nuclear power

(D) Promotes the use of renewable energy

T ST # erfertian & # Fiw T 1 9 T e ?
(A) wufra (B) W= (C) A& (D) A
Which of the following type of tax is submitted in Indian GST ?

(A) Property Tax (B) Service Tax (C) Wealth Tax (D) Income Tax

Freaferfiaa # @ forem et aw i foen = fa=w affa e 2

(A) T Hied T (B) SR AeE
(C) =ars g (D) wEreET AT

Who among the following first propounded the idea of Basic Education ?
(A) Raja Ram Mohan Roy (B) Jawahardal Nehr
(C) Dayanand Saraswati (D) Mahatma Gandhi

A H, 2020 — 21 H 1787 T4 FHIA H1 H{E I AT ?

(A) FAzF (B) w@" (€) afierrg (D) wErEEE
In India, which state was the leading producer of spices in 2020 - 21 7
(A) Kamataka (B) Assam (C) Tamil Nadu (D) Madhya Pradesh

Frafafaa & & FA-ar ser 9 § SFE F @en 5T § TET ST ?

A = (B) Tt (©) frmmm @erfen (D) e
Which of the following festival is known as the festival of lights in India ?
(A) Eid (B) Diwali (C) Christmas (D) Holi
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